# PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Non-irrigated		176.7	800.00	141,360	lbs.	\$73,507
Seed - Non-irrigated		176.7	1,280.00	226,176	lbs.	\$12,440
Cotton (Total)	*	176.7				\$85,947
FORESTRY						
Pulpwood						
Hardwood				6,098	cords	
Pulpwood (Total)				6,098		
Saw Timber						
Hardwood				436,645	board feet	
Saw Timber (Total)				436,645		
Total Pulpwood, Chip & Saw	,					\$587,618
Saw Timber FOB Mill						
Total Forestry Stumpage						\$245,290
Forestry (Total)						\$587,618
FEED GRAINS						
Corn	*	629.3	145.00	91,248	bu.	\$208,958
Feed Grains (Total)		629.3				\$208,958
HAY FOR SALE						
Grass	6	2,000.0	5.00	10,000	tons	\$500,000
Hay for Sale (Total)		2,000.0				\$500,000
HOME GARDENS	600					\$180,000
PECANS			4.4.50.00			<b>***</b>
Improved	*	30.0	1,150.00	34,500		\$39,675
Native	30	300.0	900.00	270,000	lbs.	\$162,000
Pecans (Total)	_	330.0	46.00			\$201,675
SOYBEANS	9	4,928.0	46.00	226,688	bu.	\$1,507,475
SUGARCANE						

### PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Units of Production Measure	Gross Farm Value
SUGARCANE					
Raw Sugar	25	15,456.0	6,020.00	93,045,120 lbs.	\$11,351,505
Molasses		15,456.0	181.00	2,797,536 gal.	\$405,643
Sugarcane (Total)		15,456.0		-	\$11,757,147
WHEAT	*	532.4	60.00	31,944 bu.	\$102,860
TOTAL ALL PLANT ENTERP	RISES				\$15,131,681

### FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					
Crawfish (Farm)	*	1,160 Acres in Prod.	638,000	lbs.	\$414,700
Other Species	*	15 Acres in Prod.	2,000	lbs.	\$300,000
Aquaculture (Total)					\$714,700
FUR ANIMALS			124	pelts	\$657
ALLIGATORS (WILD)			405	ft.	\$8,910
TOTAL ALL FISHERIES &	& WILDLIFE ENTERPRISES				\$724,267

## ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			180	head	\$65,407
400-500 lbs.			375	head	\$156,752
500-600 lbs.			440	head	\$202,167

### ANIMAL ENTERPRISES PRODUCTION

A : 1	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					_
600-700 lbs.			200	head	\$104,000
Steer Calves (Total)					\$528,325
Heifer Calves					
300-400 lbs.			185	head	\$59,220
400-500 lbs.			411	head	\$154,933
500-600 lbs.			500	head	\$212,960
600-700 lbs.			100	head	\$48,750
Heifer Calves (Total)					\$475,863
Yearling Cattle					
600-700 lbs.			150	head	\$78,000
700-800 lbs.			50	head	\$28,125
Yearling Cattle (Total)					\$106,125
Cow-Calf Pairs				pair	\$72,000
Cull Cows				head	\$66,045
Cull Bulls			10	head	\$7,305
Cattle & Calves (Total)	75	2,800 No. Cows			\$1,255,663
HORSES					
Brood Mares					
Race Horses	*	20 No. Brood		head	\$60,000
Show Horses	*	15 No. Brood		head	\$24,000
Recreation Horses	25	100 No. Brood	Mares 75	head	\$112,500
Brood Mares (Total)					\$196,500
Stud Fees					
Race Horses		1 No. Stallio	-	mares bred	\$25,000
Show Horses		2 No. Stallio		mares bred	\$30,000
Recreation Horses		3 No. Stallio	ns 30	mares bred	\$3,000
Stud Fees (Total)					\$58,000

ANIMAI	ENTERPRISES	PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
	Froducers	Troduction	Froduction	ivicasuie	v alue
HORSES					
Race Horses	*			head	
Recreation Horses	250		300	head	\$300,000
Horses (Total)					\$554,500
SHEEP					
Show Lambs			10	head	\$2,750
Cull Sheep			2	head	\$70
Sheep (Total)	*	8 No.Breeding			\$2,820
		Ewes			
GOATS					
Show Goats			5	head	\$750
Slaughter Goats			40	head	\$3,400
Cull Goats			10	head	\$420
Goats (Total)	6	60 No. Does			\$4,570
SWINE					,
Feeder Pigs			75	head	\$1,350
Slaughter Hogs				head	\$12,350
Culls				head	\$1,650
Swine (Total)	8	25 No. Sows	_		\$15,350
TOTAL ALL ANIMAL E					\$1,832,903
WEST BATON ROUG					\$17,688,851

WEST BATON ROUGE PARISH TOTA

\$17,688,851